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11.  

Option A: This answer is correct. Nixon uses the word “catalyst” to show
that the government must instigate and initiate changes that will help solve
the crisis.
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12.

Option D: This answer is correct. Nixon follows his statement by providing
examples of spending more time at home and refraining from long drives. His
examples provide reasons why the crisis should not result in serious hardship
for families. 
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13.

Option B: This answer is correct. Churchill’s quotation emphasizes the
importance of the outcome of World War II. Nixon quotes Churchill to
highlight the importance of the energy crisis.  
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14.

Part A 

Option A: This answer is correct. Much of Nixon’s speech is about new
laws that will go into effect, but the key point he makes is that Americans will
need to willingly make compromises to meet the crisis successfully. 

Part B 

Option C: This answer is correct. This supports the answer in Part A
above. President Nixon reiterates that the success of his various plans in
Passage 1 relies on voluntary cooperation as much as new laws and
regulations. 
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15.

Option C: This answer is correct. President Nixon mentions several specific
actions that he is taking, such as legislation being enacted by Congress, that
will have an effect on the crisis.  

Option E: This answer is correct. President Nixon presents a number of
plans in this passage, but the estimated gasoline savings represent one of
the few hard numbers used to support his arguments. 
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16. The highlighted sentences show the correct answers for this question.

14737

Other correct response: Where price gouging is discovered, it is being
stopped.
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17.

Option B: This answer is correct. The largest thematic difference between
the passages is that Passage 1 deals with steps that ordinary Americans can
take to mitigate the dangers of the current energy crisis, while Passage 2
sets its sights on preventing future energy crises.    
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18.  

14687

The highlighted phrases show correct answers for numbers 18–21.009

For each highlight, select the word or phrase that is correct.

19. 
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20.

14689

21. 

Other correct response: that; we
14690



This is the end of Session 2.
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